WB 30.3.20
Objective: Explain what each digit is worth in whole numbers


Remember: The 6 in 5,632 represents 600

Now try these:


1)	The 3 in 1 273 represents

2)	The 5 in 35 187 represents

3)	The 6 in 64 283 represents

[bookmark: _GoBack]4)	The 2 in 124 represents


For each of the next questions, write down the number in figures.


5)	What number has 1 hundred, 3 tens and zero units? 

     ______________________________________________________________

6)	What number has 10 thousands, four hundreds, 7 tens and three units? 

     ______________________________________________________________

7)	What number has 24 thousands, 6 hundreds, 0 tens and 0 units? 

     ______________________________________________________________

8)	What number has 12 thousands, 0 hundreds, 9 tens and 6 units? 
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     ______________________________________________________________
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Challenge! 

	The Lottery Jackpot is £3 952 124. 

	How much money does the three represent? 

     ______________________________________________________________

     ______________________________________________________________


